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Ums: Jlata: _ Ouenka:
2x+ (6+4x)(3x — 5)(2x + 1) (6x° + 1)(4x—3) = 3¢ — 5x — 3
(2x — 2)(4x* + 5x— 1) + (5x + 4)(x - 2) 4x — (3 — 5x)(6x — 6)(4x + 4)
(5x+ 5)(x + 4)(6x + 6) 3x+ (3+5x)(2x— 6)(4x—2)
(2% + 2x— 5)(6x+ 3)+ 1 x 3x+ 1 (6> —3x+2)3x+3)+2 x 6x+ 5
(4x” + 3)(5x + 6) + 2¢* —3x — 3 (4x + 1)(5 + 5x+ 2) + Bx + 6)(x + 2)
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Nwms: Jara: Onenka:
2x+ (6 +4x)(3x — 5)(2x + 1) (6x% + 1)(4x—3) — 3% —5x — 3
24x> + 8x* — 60x — 30 24> =212 —x—6
(2x— 2)(4)62 +5x— 1)+ (Sx +4)(x— 2) 4x— (3 — 5x)(6x — 6)(4x + 4)
8¢ + 72 — 18x— 6 120x° — 72%° — 116x+ 72
(5x + 5)(x + 4)(6x + 6) 3x+ (3+5x)(2x— 6)(4x—2)
30x° + 180x° + 270x + 120 40x° — 116x% — 21x + 36
(2% + 2x—5)(6x+ 3)+ 1 x 3x+ 1 (6x2 = 3x+2)(3x+3)+2 x 6x+ 5
120° + 18x% — 21x— 14 18x° + 9x% + 9x + 11
(4% + 3)(5x + 6) + 2% —3x — 3 (4x+ 1)(5% + 5x+ 2) + Bx + 6)(x + 2)
200° + 26x% + 12x+ 15 20x° + 28x% + 25x + 14
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